R3 =~ bYhRISHER

O TEAELEL 1 2721k #RUNEE (H1E) : 582kg = 1#kHIDUVES : 2.14kg
m 55 _BAHA
1. BE5SPRE

% HEiE (ko) 5.t FHRIE FHEE | TLEBAE
WDHFEZEE 10,600 15% 1,590 9,010
BAAEHITEDST 25,520 20% 5,104 20,416
R = bR DB 41,700 20% 8,340 33,360
H3HXKTY 190,560 20% 38,112 152,448
Nt ® 82 268,380 53,146 215,234
2. ThiBtsE

sk HEE (kg) 55k FERE FHRE 75 LaFs
=EEE 496| 227,448| mBEI&mcAs 227,448
N5t@ 496 227,448 o| 227,448
3. UINEHBRSEE URFEEE 1 kg /48 x A4E THEES

HEREEE IREE (kg) 5.t FHRIE FHEE | TLEBAIE
UNFEARERSZE (10/17) 4 45,000 0% 0 45,000
U\ O] 4 45,000 0 45,000

- =
4. BEEH (MO +2+0)

HFEI%E INFE - = (kg) 5Lt FHRIER FHRE | srensas
LEEDESD 582 540,828 Fi2DEHD 53,146 487,682
5. BEHEE)

=[S El

Bt 38,500 (mtFELHSE. H8)

BHH 22,980

TEE 52,920

EFI 5,330

&K 13,520

] 2,108| (mwE) g (B-®)
= 135,358 352,324

®



